2YZTHMATA EAEMXOY ATMONATIAQN SPIRATEC
STEAM TRAP MONITORING SYSTEMS SPIRATEC XPYLAPIAHL

O1 atpoTtrayideg gival TpoidvTa pe IoTopia TTavw atmo 100 xpovia!
Mapa TNV €EEAIEA TOUG OUWG, TTAPOUGCIAJOUV aVATTOPEKTA BAGREG KAl TOTE TIPETTEI VA TIG AVOKAAUTITOUUE AUEDA.
O Gueoog kal cwaTOG EVTOTTIOUOG TwV BAABWY OTIG aTPOTTAYIOEG €ival To KAEISI yia:

BEATIZTH ANOAOZzH
THZ MAPAIQrHz

Steam Traps are products with a century history !
Although they have been advanced, they also present damages, which should be discovered immediately.
The correct and immediate detection of those damages of the Steam Traps is the key for:

OPTIMUM PRODUCTION

E=OIKONOMHZH ENEPTEIAZ AZQAAEIA

ENERGY SAVING PERFORMANCE SAFETY
To k60TOG TNG ATTWAEIaG ATHOU a1rd ATHOTTaYiBEG
Typical steam wastage and annual costs due to leaking steam traps
Méon AidpeTpog . . P P
MidoTaon BakgiBuviaTiomrayibuy AmrwAeieg ATpou Tu1T|K9 Etnoio KéoTtog
. . . Steam loss Typical annual cost
Size Average orifice size in steam
(kg/h) x 1000 €
traps (mm)
6 barg 14 barg 32 barg 6 bar g 14 bar g 32 barg
DN15 3.0 8 19 43 20 48 108
DN20 5.0 24 53 119 60 133 300
DN25 -5 555 121 270 138 305 680
DN40 10.0 98 214 478 245 539 1204
DN50 12.5 152 335 747 383 844 1882

MAPAAEITMA
‘Eva gepyooTdaio €xel 200 atpoTrayideg atmo Tig otroieg Trapouaiadouv diappor 10% eTnoiwg. ‘EoTtw didoTaon atpotrayidag DN20 kai
Trieon atyou 14 barg. To epyooTdaio AeIToupyEei CUVEXWG ETTI 24 Wpes/NUEPQ, 7 nuépeg. MEoog apiBuog aTpoTrayidwy pe diappor
€Tnoiwg (10% Tou 200) = 20 atpoTTayideg, 7 pépeg/efdopdda, 50 eBdouadeg/éTog = 8 400 WPEG/ETOG.
ATT6 TOV TTApATTAVW TTIVOKA : aTTWAEID aTpoU avd atpoTrayida =53 kg/ h
EtAoia amwAeia atpou yia 6Ao 1o epyooTdoio = 20 x 53 x 8 400 : 1000 t6vor = 8900 T16VOI
Me Tnv uttéBeon 6Tl TO TUVOAIKO KOGTOG TTAPAYWYAG ToU aTpoU eival Trepitrou 30 € / Tovo

ATIQAEIA XPHMATQN = € 267.000,00

EXAMPLE
A process plant has 200 steam traps of which 10% fail annually. The average trap size is DN20 and the Steam pressure 14 barg.
The plant is running 24 hours a day, 7days a week for 50 weeks a year = 8.400 hours a year
Average number of traps failing over a year (10% of 200 pcs) = 20
From the above chart the steam loss per trap = 53kg/ h
Yearly Steam Loss for the total plant = 20 x 53 x 8 400 : 1000 tonnes = 8900 tonnes.
If we assume that the total production cost of the steam is approx. 30 € / tonnes

LOSS OF MONEY = € 267,000.00

H Adon givai SPIRATEC - The solution is SPIRATEC R1C Aut6pato Mévitop
Automatic Monitor

R16C Autopato Moévitop
Automatic Trap Monitor
Atpotrayida pe Evowpatwpévo AigBntrpio
Steam Trap Integral Sensor
R1
ATTOUOKPUCUEVO anpeio eEAEyxou
Remote test point
R12
ATTOPAKPUOPEVO ONuEio EAEyXOU
Remote test point

Type 40 ®opntd dpyavo eAEyxou
Hand Held Indicator

Ta TeXVIKG aToIXEia pTTopoUV va ueTaBAnBouv xwpig e1dotroinon - Technical data are subject to change without prior notice 6.55






